Answer Key:  Chemical Reactions Review

1. reactants on the left, products on the right

2. iodine, bromine, chlorine, fluorine, oxygen, nitrogen, hydrogen

3. a whole number in front of an element or compound in a chemical equation; used to balance the equation.  A whole number below the element used to tell the number of molecules. Not brought over when predicting products.
4. Small #’s written in formulas.  They stand for the number of atoms or polyatomic ions immediately to their left.  Cannot be changed when balancing equations.  Cannot be “taken across the arrow” when predicting products, unless they are part of a poly atomic ion (inside the parentheses) 
5. Matter cannot be created or destroyed in an ordinary chemical reaction.  Mass of reactants must equal mass of products.  Equations must be balanced because no atoms can be gained or lost.  

6. a) solid  

b) liquid  

c) gas  

d) aqueous solution (substance is dissolved in water)  

e) a catalyst speeds up the reaction without being consumed itself; its formula is written above the arrow  

f)  a triangle above the arrow represents heat added

7. The activity series shows the order of reactivity of elements (both metals and nonmetals).  It is used to predict whether single replacement reactions will occur. An element can replace any element below itself on the activity series, but cannot replace any element above itself.
8. a special type of double replacement reaction; an acid and a base produce a salt (ionic compound) and water
9.       a.   S; 1-3-2

b. SR; 2-3-1-3

c. D; 2-2-1

d. DR; 1-3-1-3

e. C; 2-7-4-6

f. DR; 1-2-1-2

g. S; 2-1-2

h. C; 2-15-14-6

i. SR;  1-3-2-3

j. DR;  1-6-3-2

10. 

Synthesis:

_4__ Al

+
__3_ O2
→ 2 Al2O3
____ N2
+
__3_ H2
→ 2 NH3     (or H3N)
Decomposition:
__2_ HCl

→ H2  +  Cl2
__2_ HgI

→ 2 Hg  +  I2
Single Replacement:
__2_ Al

+
____ Fe3N2

→ 2 AlN  +  3  Fe
____ Zn+2
+
____ H2(CO3)

→  Zn(CO3)  +  H2
Double Replacement:
__4_ (NH4)3(PO4)
+
__3__ Pb(NO3)4
→ 12 (NH4)(NO3)  +  Pb3(PO4)4
____ CaCl2

+
____ K2CO3

→ Ca(CO3)  +  2 KCl
Combustion

__2__ C4H6

+
__11__ O2
→ 8 CO2  + 6 H2O
____ C5H12

+
__8__ O2
→5  CO2  + 6 H2O
